
LV�D�KHDOLQJ�IRRGV�EXVLQHVV�EDVHG�RXW�RI�3RUWODQG��25

IRXQGHG� E\� KROLVWLF� FKHIV� -RKDQQD� *ODVHU� 	� -HG

7KDJJDUG��-RKDQQD�	�-HG�KDYH�ERWK�UHFHLYHG�0DVWHUV

'HJUHHV� LQ� +ROLVWLF� 1XWULWLRQ� IURP� WKH� 1DWLRQDO

8QLYHUVLW\�RI�1DWXUDO�0HGLFLQH��:H�FKRRVH�WR�ZRUN�ZLWK

ORFDO� VPDOO�VFDOH� IDUPHUV� DQG� ILVKHUPHQ� ZKR� SURYLGH

KLJK�TXDOLW\� RUJDQLF� SURGXFH�� ZLOG�FDXJKW� VHDIRRG�

DQG� VXVWDLQDEO\� UDLVHG� PHDWV�� :H� EHOLHYH� WKHVH

SUDFWLFHV� VXSSRUW� KHDOWK\� ERGLHV� ZKLOH� XSKROGLQJ

UHFLSURFDO�UHODWLRQVKLSV�ZLWKLQ�RXU�IRRG�V\VWHPV�

ZZZ�JDWKHUDURXQGQXWULWLRQ�FRP

JDWKHUDURXQGQXWULWLRQ#JPDLO�FRP�

��������������

*DWKHU�$URXQG�1XWULWLRQ�UHFRJQL]HV�ZKDW�D�VDFUHG�WLPH� WKH�SRVWSDUWXP�SHULRG� LV�IRU�IDPLOLHV�

:H�EHOLHYH�WKLV�WLPH�VKRXOG�EH�RQH�RI�UHVW�DQG�UHFRYHU\�IRU�WKH�QHZ�SDUHQW�DQG�IDPLO\��7KLV�LV

ZK\�ZH�RIIHU�QPTUQBSUVN�NFBM�EFMJWFSZ�QBDLBHFT� ILOOHG�ZLWK� QRXULVKLQJ� IRRGV�DQG�KHUEDO

WHDV�WR�SURPRWH�GHHS�KHDOLQJ�
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0DQ\�WUDGLWLRQDO�FXOWXUHV�DFURVV�WKH�ZRUOG

KDYH�WKHLU�RZQ�WDNH�RQ�SRVWSDUWXP�FDUH�

DQG� FHQWUDO� WR� DOO� RI� WKHP� LV� DGHTXDWH

WLPH�IRU�WKH�QHZ�SDUHQW�WR�UHVW��HVWDEOLVK

EUHDVWIHHGLQJ�� UHSOHQLVK� QXWULHQW� VWRUHV

ZLWK� WUDGLWLRQDO� IRRGV�� DQG� WDNH� D� EUHDN

IURP� SK\VLFDOO\� GHPDQGLQJ� DFWLYLWLHV�

*DWKHU�$URXQG�1XWULWLRQ�VHHNV�WR�VXSSRUW

QHZ� IDPLOLHV� GXULQJ� WKLV� WLPH� ZLWK� RXU

SRVWSDUWXP� QXWULWLRQ� RIIHULQJV�� :H� ZDQW

WR�DOORZ� IDPLOLHV� WR� IRFXV�RQ�HDFK�RWKHU

DQG� WKH� QHZ� EDE\� ZKLOH� ZH� IRFXV� RQ

SURYLGLQJ� QXWULHQW�GHQVH� IRRGV� WKDW

VXSSRUW� SURSHU� KHDOLQJ� DQG� JURZWK� IRU

WKH�QHZ�SDUHQW�DQG�EDE\�
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